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Vocabulary

- " .Vocabulary, Set Notation, & Venn Diagrams

~_ Probability ‘

[ ] A number from O J‘O ] The event y:i_ll ‘_Tkhle‘/eveprt isas e
bl Rifersiocnt certain to occur,
e Asapercent from 0 to '0070 ‘L Lo i |
e Indicates how likely an ___2vent will L i T
¥ WwE o @5 0.875
i QECGUr,
Experiment

e Any process or action that has observable results

e Example: draw'mg Q Wﬁama deck oF CQVdS

Outcomes

. Resvlts from %Operdms

e Example: @ the Cards v the deck an, P&&UL outcomes.

Sample Space ;

e The set (orlist) of _OM _DosStble  outcomes

« Also known as the universal Seb
« Example: 1St of all cardS in tva deck.

.o

| Event

e Asubset.ofan 'WPUMW
s Anoutcomeor Set of desuiedl owttemes

s Example: drouum? a .(.’me 06 heart1S

1"y U elmalmin'm 22288 D

§ sej ; .
.« LiSt or Collection Of, Upm s

=ction of itemg  al contained within another sef.

Acb

if all the elements of A are also in B.

:
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Empty Set
* Asetthathas NO _¢lementS

™

=

- * Alsocalled a_hull Setll ~. G
e Denoted by ﬂ or ‘9} —
_ [

<9 Union —
s  ° Denotedby U : :
] e To unite . .
~ S Everything in bt et ’
5

~8 Intersection

a e Denoted by U,

8 e Only what the sets _ Shar€  in common.

q ——
i— Complement H,. A,
i_— e Denoted two different ways: or

$  ° Everything owSIide o this set

> —

@ Hector has entered the following names in the contact list of his new cellphone: Alicia,
® —Brisa, Steve, Don, and Ellis. g;geamsw/ VoWl F: opnds w/ vowe )

1. Draw a venn diagram to represent this

5 ‘

2. List the oufcomes Qf B. @

g
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Using Venn Diagrams =

; —_ B

shade in the appropriate area of the Venn Diagram. e
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. Mr. Grisham took a poll of his student's favorite type of weather. The students had the choice of o

hot, cold, and/or rain/snow. The results are dlsplayed in the Venn Diagram. Write your answer A
as areduced fraction #d esired ovtcome :

> Y mebhhj +otal o »§5 Warm
_6.Find P(Cold). 1947 ~ |

¢ Adam Alice Russell A Jacab Cameron

f Mike Chet Sam " Rose \,, Maria Jeff Samh \

I soe E Terssz Kally Lyle

/arm N Rain).

Carsen Jlavier James

Rain/Snow

24

d U Warm).=—
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Create a Venn Diagram to model the scenario: : . pare-
de
of the stV o
— S5students went on a field trip. 24 of the students are soccer players. $7There were |sO
___ Tuncross country. 16 of the students do both soccer and cross counter. e
___ some students on the trip that play neither sport. A P
BT A SR e
% | gott” 9. \{C & 8
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Now find the Following probabilities: o
a4 s . i
__ P(Soccer u Cross Country): 7/“ . 3/5'5
ifos = [} -
-4 P (Soccer'n Cross Country): ',/55 I

— P (Soccer n Cross Country): 4,![55_'__ b

Y , [ Tl
~ P (Soccer u Cross Country)l: /ll %’S-

: 2 (Soccer)':__z'[és :

28/, e
4 P {Cross Countayilsans. k’; L.
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or overlapping? Explain. Then find P(A U B) p-
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®  Pobability_Raview Notes

A2 (1) Mutually ExcAusiv
/n.\ /ﬂ \ rvwiwutu eXuUsive events
4 \ha\/& ho Common outco meSs -
. Probability of spinning
/Q Q or an odd numper.
_.; G ‘/8. r g = 5/g

/-:(.s

\%/ 5
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lappin Jggjuswe, events that
do have common ovicome$S
| eX . Spmmhq an  gxen number or. A humber
tnat beqms wHn a (ohsanont
Formwla . P(AuB) = P(A) + P(B) ~ P(A nB)
= "l'/g + Y3 - 3/

PrveY= g

s

H@Pehmq
& Ppro babclﬂ—q of tre (omplement

’}' or PL‘HUB)J

v ‘_;l/?

[-EventS o probability
a spea%c ovent
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@ rdependent gvents

|One event occuring dvesS ot effect e

probability of  Fhe other . WITH Replagment
Dl 'ProbaBulrr\/ of draumq TWO hoarts,
In.a ROW  With Replacement.
formula:  P(A AB)=PA)-PLB) e
g\S : $\v o bz |3 ! UQA F
Eogr—ilh {'[Hp[~
T0 Prove inoependence Show . th. o-\c g
e Fouowmq
O PUAB = PiAS BLE)

| (2 PCﬂlB\ LR f :
BE - oo o
| P(bl = P‘(B) .

2pendent EventS oOne event

Q' does effect  +Hu DrobabHﬁ'V

7 0theRr . WITHOUT mplawnm+

ability | of drawing two Eings

fow _ without Réplatesment.
p(ﬁn@ P(A) - MRB|R)

B . 2 e 35
= '2/91,52
Sy




